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=d0tE M}
=oAL (2L AT /2E)
THO NHME2Z 29 (cte ®
% = T Ol Ao & E 0] A —
EH-Z3H .42 (3H) - HEMNY - BES (FE o) (1= o) Hnsz
= 0ff &F 70,000 0 70,000
Oz=&o Z2Us02 M ME M=vl
5,000,000& x4 3] 20,000
ONY3AHE Al ey 50,000
—YAHE 7Y 250,000& = 100& 25,000
— 4S9, goHs Al SUHE AS)|
s +¢ 25,000,000& *13] 25,000
207  HAFAIHEH] 248,000 20,000 228,000
01 H2E9HY| 248,000 20,000 228,000
= 0ff &F 248,000 20,000 228,000
O=d M2 H& o2 9
84,000, 0003 *14] 84,000
O=d M2ABHMXY SHI| 22 HE £
=) 80,000, 000& 14! 80,000
O=&o 520 Z2LIHY ¢Hs4d
20,000,000& *13] 20,000
O=&2 a=8XHA2E At & - HIIS
NEXZA 4 64,000,000 *14] 64,000
ot A2 14,609 14,871 N 262
QAEIE=H 0| 10,000 10,000 0
Ol &t 10,000 10,000 0
OMEINE/RS =3 2,000,000& x53] 10,000
SHAIAHIEAZ 3,009 3,271 A 262
= 0ff &F 3,009 3,271 N 262
O=do&EX NESES AY
3,009,000& 13| 3,009
12 JIEIE2 A3 1,600 1,600 0
Ol &F 1,600 1,600 0
O=HUTGIAS AL BA&=
10,0002 *4H x40 1,600
aI2tol & 280,000 60,000 220,000
QI2HHAANGEEX 200,000 60,000 140,000
= 0l &F 200,000 60,000 140,000
O=&o FOEN B2AHY
20,000,000& =104 2 200,000
DI2FEH AR AL DS 2 80,000 0 80,000
= 0ff &F 80,000 0 80,000
OMHSK HTRXIE S OFAIOFKIS 312 Y
B 80,000,000& *13] 80,000
A& HI 2208 50,000 120,000 A70,000
Al & HI 50,000 120,000 270,000




2N =28 A
HH: SAHOBR(SHUYBB /DY)
ol SHQ NOIMED 29 CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 50,000 120,000 70,000
O=&0 X =01 MEHOISIOtR I At
25,000,000& *23| 50,000
405  XHaHFE S 37,000 0 37,000
01 NHMLEEFHSHI 37,000 0 37,000
= 0ff & 37,000 0 37,000
O&=&OSA ZSAHAX 220 E8 &
Hl 7 37,000
—ZCADITNE 8,000,000& 1Nl E 8,000
— Aot 3,000,000& =1CH 3,000
-2 Aotd 300, 000& *20CH 6,000
—Jiolet ¥ = 9,000,000& = 1CH 9,000
— Or2tE < JHol et 2,000,000& =3CH 6,000
—HASX A WAIE 1,000, 000& *2CH 2,000
— A "HE 1,500, 000& *x2H 3,000
=0 NHME 2 MEFM Al & OHLHAIE AX| 400,000 0 400,000
Fag 200,000
Al 200,000
401 AIEHIL201H] 400,000 0 400,000
Fag 200,000
Al 200,000
01 Al&H| 400,000 0 400,000
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=XOtEHESIALY 2,404,396 4,199,821 N 1,795,425
= 674,000
= 255,000
Al 1,475,396
=M EU2YE 108,024 85,293 22,731
201 282 A Y| 19,424 20,153 ANT29
01 At 2t2lbl 7,540 9,275 AN 1,735
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HE: O (2HUBY /DY)
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x s . Of &t o8 & & 0 A o -
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3,5002 *1,0007H 3,500
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02 ZZ2Y| 11,884 0,878 1,006
=0 & 11,884 10,878 1,006
OFSH 2 sr 23 A3l
4500002 23] 900
O=HUHSH AEIHIRK 871,002 43 3,484
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1,500,000 27} x23] 6,000
202 Oftl 600 540 60
01 2ol 600 540 60
=0 4t 600 540 60
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301 YWBAD 48,000 49,600 A1,600
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01 TAUSEH S 20,000 15,000 5,000
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OHSH XY HH7Y
15,000, 000! * 14 15,000
=520 5% 259,943 192,010 67,933
201 Yur2YHl 64,693 72,010 A7,317
01 AtR2lY| 55,000 62,410 AT,410
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2N =8B
HH OB (SHUBB /DY)
£H9l: %M Dl B S BA CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 3,000 5,000 A2,000
= 1,500
Al 1,500
O=&OtME 22 =& ol
60,000 *5H 2 53| 3,000
= 1,500
Al 1,500
307  gIztol A 83,000 95,000 A 12,000
= 41,500
Al 41,500
02 QUAHABLASEX 83,000 95,000 A 12,000
= 41,500
Al 41,500
= 0l & 83,000 95,000 A 12,000
= 41,500
Al 41,500
O&=dot MEj 222835 ALY
83,000, 000& *13| 83,000
= 41,500
Al 41,500
SOLAIOF EAMEXSGHE XIA 415,000 415,000 0
310 =2201& 415,000 415,000 0
02 2NEES 415,000 415,000 0
= 0l & 415,000 415,000 0
OSO0LAIOH HALZX D EEH 28 NAA 2
=a=1 415,000,000& x 13| 415,000
MBS 2e|AHY A Y 700,000 700,000 0
= 210,000
= 245,000
Al 245,000
301 LerEa3g 700,000 700,000 0
= 210,000
= 245,000
Al 245,000
12 JIEtE &3 700,000 700,000 0
= 210,000
= 245,000
Al 245,000
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2N =28 A
M =oAL (B2 /)
CHe: =B ESIAIY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 0l & 700,000 700,000 0
= 210,000
== 245,000
Al 245,000
OMIBCreAd 2t H ALY
700,000,000& * 1A 700,000
= 210,000
c 245,000
Al 245,000
SAESXNIE(SH o) dl&x =2 551,429 1,020,000 N 468,571
2 386,000
Al 165,429
401 AIEHIZ20iH] 551,429 1,020,000 N 468,571
= 386,000
Al 165,429
01 Al&HI| 551,429 1,020,000 N 468,571
= 386,000
Al 165,429
= 0ff &F 551,429 1,020,000 N468,571
= 386,000
Al 165,429
Os&ot? gl&EX SIAAMY
551,429,000 » 1Al 551,429
= 386,000
Al 165,429
HEEY HOEMN =X 159,000 200,000 A 41,000
201 Bt A H| 99,000 200,000 A 101,000
03 #AI2HEH| 99,000 200,000 A 101,000
= 0l & 99,000 200,000 A 101,000
O=&0 ZU=EH 39,000, 000& *14] 39,000
O=&0t 8 MEISH 20,000, 000& *14] 20,000
O&=&0F 8 HE=H 20,000, 000& *14] 20,000
O&=&0F A2 ZMSH 20,000, 000& =14 20,000
307 QIz2to| & 60,000 0] 60,000
04 OIZ2ISHALAIRE 2 X 60,000 0 60,000
= 0l & 60,000 0 60,000
O=&0t ZU=FH 60,000, 000& *14] 60,000
SAESA A X & &= 50,000 0 50,000
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2N =8B
HH OB (SHUBB /DY)
ool = UEHES MY (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
2 35,000
Al 15,000
307 glztol & 50,000 0 50,000
= 35,000
Al 15,000
02 QUAHABLMASEX 50,000 0 50,000
= 35,000
Al 15,000
= 0l &F 50,000 0 50,000
= 35,000
Al 15,000
OHANZESANEZA XN & S=2
50,000, 000& 13| 50,000
= 35,000
Al 15,000
FUAD MEEMXY 2l XA 20,000 0 20,000
= 10,000
Al 10,000
201  et2I| 20,000 0 20,000
& 10,000
Al 10,000
01 At 2eltl 10,000 0 10,000
= 5,000
Al 5,000
= 0l & 10,000 0 10,000
& 5,000
Al 5,000
Os2s WM& 500& x20,000% 10,000
= 5,000
Al 5,000
03 dAI2ZHI 10,000 0 10,000
= 5,000
Al 5,000
= Ol &t 10,000 0 10,000
= 5,000
Al 5,000
OO0 QASE WX 10,000
— 2 AtbIl 500,000& x103| 5,000
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SA: HURHED
M Y U SME(SEHSLM/HSSN - O E)
ool HYLMBEEEN CERE
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OMIMEI L 298 N&, BX S 2
200,0008! +13] 200
OTIIMENOI A A8 B4 U HIIS X
21l 100,000 *43] 400
ONGMEH DA ¢ N2 BA =
o 100, 0002 98] »33] 2,700
OTOIMEIRA S B
40,0002 * 1002 4,000
ORIMENIRA H4D L HIG YXE
70,0008 3CH *43] 840
OTIMENI DA SOHYAAE 2
160,000 * 122 1,920
OTIMENIRA SY)| AFEFY 442
200,0002! 122 2,400
ORIMEIIRA A8 292 98 S20)
Aty 8,0002! *28 x5 122 960
02 23293l 30,391 30,098 293
=0l 4 30,391 30,098 293
ONQIMEInA 22 ®IINBE
1,000,000% * 122 12,000
OTOIMEOIRA QIS AESM L HOl
goz olgz 11,0002 122 132
OTIMEII DA ABEBIIA BHE
159,000 *13] 159
OTIMEN IR A AEEY S
510,000 *10Z *13] 5,100
OMIMEII A 28 MBI4+E ABE
500,000% * 122 6,000
ONSIME A 220 SX24
500, 0008 *43] 2,000
OHIZZ AL SX L A2 s
1,000,0002 %53 5,000
202 OfHl 1,680 1,680 0
01 =0l 1,680 1,680 0
=04 1,680 1,680 0
OHdTARA HTIE &S S Oitl
60,0002 x2& +22! x33] 720
OTIOIMEN SRR AOIL &4 S
60,0002 x2 % *22 *43] 960
206 T2 2,414 2,380 34
01 M=l 2,414 2,380 34
=0l 4 2,414 2,380 34
OTIMENIRA ABA 2 W2 7
603,500 *43] 2,414
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2N =8B
B Y Y SMBR (SRS WL - O F)
T RO e GO
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
207 A 20,000 42,000 A22,000
03 Al&d2HI 20,000 20,000 0
= 0l & 20,000 20,000 0
ORI MEGTA NSRS 21 L Al
2 10,000, 000& *23| 20,000
301 et AF 3,009 3,271 A 262
09 FAAHEANZS 3,009 3,271 A 262
= 0l & 3,009 3,271 A 262
ONHAMENHAT 2t AHOILE JHEl S
1,504,500& *23| 3,009
405  RhAaHHE S 40,000 40,000 0
01 &L SSFHSHI 40,000 40,000 0
= 0l &F 40,000 40,000 0
ONHMENHARA I L HEIAE
g 2 40,000,000& =13l 40,000
ANTIERRIY TN 2,096,300 1,005,625 1,000,675
3 165,650
- 720,000
= 301,440
Al 909,210
HAIHAHY REZEZZAZ 151,000 103, 125 47,875
= 120,000
Al 31,000
401 AZBIZ =208 151,000 103, 125 47,875
= 120,000
Al 31,000
01 Al&HI 150,000 102,125 47,875
= 120,000
Al 30,000
= 0l & 150,000 102,125 47,875
= 120,000
Al 30,000
OHotd AL 50,000, 000& *3% 150,000
= 120,000
Al 30,000
03 Al&=208l 1,000 1,000 0
= 0l & 1,000 1,000 0
OAotHe ZHAY F& 22| &
500,000 =2 & 1,000
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SN 2HMEHDY
M Y U SME(SEHSLM/HSSN - O E)
el AATABRAUTY (69l @
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
AMIBAE o BAAY 200,000 200,000 0
401 AEHLRE 200,000 200,000 0
01 A&l 200,000 200,000 0
=0l 200,000 200,000 0
O%AI|BIAIE BB UALY
20,000,000 * 1074 £ 200,000
HHZE UK ZLEH 22 50,400 63,000 A 12,600
= 25,200
Al 25,200
402 YAXROIH 50,400 63,000 A 12,800
= 25,200
Al 25,200
02 QIAXZALZE(OIHE) 50,400 63,000 A 12,600
= 25,200
Al 25,200
=0l 50,400 63,000 A 12,600
= 25,200
Al 25,200
OHBY UK LY 23 XA
50,400, 00021 * 14} 50,400
= 25,200
Al 25,200
apg HHND NI XA 10,000 5,000 5,000
308 XSSO0l 10,000 5,000 5,000
07 RXESHARLYS 10,000 5,000 5,000
=0l 4 10,000 5,000 5,000
O bR T 20| K X4 X 2 A S
10,000,000 *13] 10,000
==l &1 AY 100,000 0 100,000
o 80,000
Al 20,000
401 AEBILR0L 100,000 0 100,000
i 80,000
Al 20,000
01 A&l 100,000 0 100,000
= 80,000
Al 20,000
=0l 4 100,000 0 100,000
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2N =28 A
B Y Y SMBR (SRS WL - O F)
CHe: A2 Y XY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 80.000
Al 20,000
Ot=Ex ol AXIAIY
100,000, 000& * 14! 100,000
Fag 80,000
Al 20,000
=g s 2&WAE &X 300,000 200,000 100,000
= 240,000
Al 60,000
401 A& L 300,000 200,000 100,000
Fag 240,000
Al 60,000
01 Al&HI| 300,000 200,000 100,000
g 240,000
Al 60,000
= 0l & 300,000 200,000 100,000
Fag 240,000
Al 60,000
Osgtills &0 &xXl
150,000, 000& *2JH A~ 300,000
Fag 240,000
Al 60,000
HER B8 Ad ALY 12,000 1,000 11,000
= 3,600
Al 8,400
307 QIz2to| & 12,000 1,000 11,000
== 3,600
Al 8,400
02 QIZHAAMAIREE =X 12,000 1,000 11,000
= 3,600
Al 8,400
= 0ff & 12,000 1,000 11,000
== 3,600
Al 8,400
OAsg B2 XA 12,000,000 «1A! 12,000
= 3,600
Al 8,400
SRR A ool eXtel A 90,000 0 90,000
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2N EHUSAD
HE: Y U AN (SHHSSA/HLLL - O E)
EC RS O E ECESE (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
= 45,000
Al 45,000
307 @I2tolE 90,000 0 90,000
= 45,000
Al 45,000
02 BIZHMAYRE 90,000 0 90,000
= 45,000
Al 45,000
=0 & 90,000 0 90,000
= 45,000
Al 45,000
OUNRBES el L2l XHAY
90,000, 000! *14! 90,000
= 45,000
Al 45,000
SUBT Y YEAL 100,000 87,500 2,500
2 80,000
= 10,000
Al 10,000
308 XXESHESOIH 100,000 87,500 12,500
2 80,000
= 10,000
Al 10,000
10 BIIZSOICHEH &= SIS AR bl 100,000 87,500 12,500
2 80,000
= 10,000
Al 10,000
= 0 &t 100,000 87,500 2,500
2 80,000
= 10,000
Al 10,000
O# BT YL T A 100,000,0008! *14] 100,000
2 80,000
= 10,000
Al 10,000
NERANABSH S0 ML 36,000 36,000 0
= 18,000
Al 18,000
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2N =8B
HH: olY L a2 (sHMSA/HS0 - HE)
ol AN BRI LEA CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
101 o4l 36,000 36,000
= 18,000
Al 18,000
04 JIZtHZZ2NSE=+ 36,000 36,000
= 18,000
Al 18,000
= 0l &F 36,000 36,000
= 18,000
Al 18,000
OolszelgssH S0 NFAY
18,000,000 *2J4 & X 36,000
& 18,000
Al 18,000
HEAD GIZAIAE RFAS 10,000 10,000
2 5,000
Al 5,000
402 QIZEXRrE0l M 10,000 10,000
= 5,000
Al 5,000
02 QAT 2AISEX(0I™THA) 10,000 10,000
= 5,000
Al 5,000
= 0ff &F 10,000 10,000
= 5,000
Al 5,000
O &AL GIZAAE RSALS
10,000, 0003 *14] 10,000
= 5,000
Al 5,000
Agog A8Ad 250,000 250,000
= 200,000
Al 50,000
401 AI&BIZ =208l 250,000 250,000
= 200,000
Al 50,000
01 Al&HI 250,000 250,000
= 200,000
Al 50,000
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2N =28 A
B Y Y SMBR (SRS WL - O F)
CHe: A2 Y XY (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 250,000 0 250,000
Fag 200,000
Al 50,000
OXge HEAMH 250,000,000 * 14 250,000
Fag 200,000
Al 50,000
AANHE 22 ALY 100,000 0 100,000
Fag 80,000
Al 20,000
401 AlEHIL20iH] 100,000 0 100,000
Fag 80,000
Al 20,000
01 Al&H| 100,000 0 100,000
Fag 80,000
Al 20,000
= 0l & 100,000 0 100,000
Fag 80,000
Al 20,000
OLANHE 22AMS 100,000, 000& * 1A 100,000
Fag 80,000
Al 20,000
TEH 2T 22 XA 11,900 0 11,900
= 5,950
= 1,190
Al 4,760
402 QI2FXE0|M 11,900 0 11,900
= 5,950
== 1,190
Al 4,760
02 QUAT2AILEZ(0IETHE) 11,900 0 11,900
= 5,950
& 1,190
Al 4,760
= Ol & 11,900 0 11,900
= 5,950
== 1,190
Al 4,760
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2N =28 A
B Y Y SMBR (SRS WL - O F)
o SAT B UEA CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
OFeEd 22 B XSAY
11,900,000& * 14 11,900
= 5,950
== 1,190
Al 4,760
ONEHBOIS NSEUE XA 19,000 9,000
= 9,500
== 2,850
Al 6,650
307 212tol A 19,000 19,000
= 9,500
c 2,850
Al 6,650
02 QU2tFAAMHEX 19,000 19,000
= 9,500
= 2,850
Al 6,650
= 0ff & 19,000 19,000
= 9,500
== 2,850
Al 6,650
OEXNEDNIS MEEE HE NIAAS
19,000,000& » 14! 19,000
= 9,500
== 2,850
Al 6,650
e MlEEE KJAS 4,000 4,000
== 1,200
Al 2,800
307 QI2t01 A 4,000 4,000
== 1,200
Al 2,800
02 QU2tFAAMGEX 4,000 4,000
& 1,200
Al 2,800
= O] & 4,000 4,000
== 1,200
Al 2,800
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SH: 2HUBHEDY
M Y U SME(SEHSLM/HSSN - O E)
el AATABRAUTY CEER-E
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
OOE B2 XA 4,000,0002 *14 4,000
= 1,200
Al 2,800
Olglol IR 2 XIRAY 2,000 2,000
= 600
Al 1,400
307 BI2H0lH 2,000 2,000
= 600
Al 1,400
02 DIATMANABE 2,000 2,000
= 600
Al 1,400
=0l 4 2,000 2,000
= 600
Al 1,400
Oolglol GEBEE NAANY
2,000,000 *14! 2,000
= 600
Al 1,400
WYMBI| HMTHE S AL 80,000 80,000
e 40,000
Al 40,000
401 AEBIZR0L 80,000 80,000
I 40,000
Al 40,000
01 A&l 80,000 80,000
e 40,000
Al 40,000
=0l 4 80,000 80,000
i 40,000
Al 40,000
OMLMI| HEEEE LI AL
80,000,0002 *14] 80,000
I 40,000
Al 40,000
NEISH 230/F =AY 240,000 240,000
= 120,000
Al 120,000
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2N =8B
B Y Y SMBR (SRS WL - O F)
o SAT B UEA CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
402 QI =0lM 240,000 0 240,000
= 120,000
Al 120,000
02 QUAT2AILEX(0IXTHIA) 240,000 0 240,000
= 120,000
Al 120,000
= 0l &F 240,000 0 240,000
= 120,000
Al 120,000
OHEZS=sH &30 SJAMY
240,000,000 14! 240,000
= 120,000
Al 120,000
HE s =432 MAHA7RS 330,000 0 330,000
= 99,000
Al 231,000
401 AZHIZ =208 330,000 0 330,000
= 99,000
Al 231,000
01 Al&Hl 330,000 0 330,000
= 99,000
Al 231,000
= 0ff &F 330,000 0 330,000
= 99,000
Al 231,000
OE g axaze HAHA-S
330,000,000 14! 330,000
= 99,000
Al 231,000
of 2 et 2t 5,082,230 153,286 4,928,944
= 3,409,965
fas 50,000
= 30,300
Al 1,591,965
HYES A2 (=L (SX)ES X S 22| A 54,100 63,786 A9,686
o)
= 37,800
Al 16,300
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EM: =dHUEM
I Y L AT (SHHSSL/HLSL - )
Cel: s e (St &8
K- Ba . el (3]H) ( a(ﬁ;%gmﬁ% HlnS
202 04| 11,160 7,200 3,960
= 7,800
Al 3,360
01 =AYl 11,160 7,200 3,960
= 7,800
Al 3,360
= 0fl &F 11,160 7,200 3,960
= 7,800
Al 3,360
OF=PN=E]
gl x| 0 ,000& +3H 2 x313] 11,160
= 7,800
Al 3,360
206 M= 4l 14,300 12,169 2,131
= 10,000
Al 4,300
01 M=zl 14,300 12,169 2,131
= 10,000
Al 4,300
= 0fl & 14,300 12,169 2,131
= 10,000
Al 4,300
OMEIMEZ=Z0Y 2
14,300, 000&! *1 14,300
= 10,000
Al 4,300
401 Al&HI™ 28,640 10,000 18,640
= 20,000
Al 8,640
01 Al&HI 28,640 10,000 18,640
= 20,000
Al 8,640
= Off & 28,640 10,000 18,640
= 20,000
Al 8,640
OsXNES
28,640,000 » 14! 28,640
= 20,000
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SMN: =MOEED
M G L AR (SEMYSM/ WYL - O E)
cHel: o 2kEr 22 (9 A2
x 5 . Ofl & 04 A 0l & o -
EA -3 ..U (3H) - MBEAMNY - HAE=S (Z= o) (713 o) Hwns2
| Al 8,640
HyEsRA(HHSXOHUHOSHA) 28,600 19,500 9,100
= 20,000
Al 8,600
301 gtz Az 28,600 19,500 9,100
= 20,000
Al 8,600
12 JEEAR 28,600 19,500 9,100
= 20,000
Al 8,600
=0f A 28,600 19,500 9,100
= 20,000
Al 8,600
OSSO SSE AR
28,600,000 * 14! 28,600
= 20,000
Al 8,600
HUYMAINEH H2IAY 130,800 50,000 80,800
= 50,000
Al 80,800
401 AEHIZ =Y 130,800 50,000 80,800
= 50,000
Al 80,800
01 A&l 130,800 50,000 80,800
= 50,000
Al 80,800
=0) A 130,800 50,000 80,800
= 50,000
Al 80,800
OBMLMY I 2=HH2IAY 50,000,000 «23] 100,000
= 50,000
Al 50,000
O=HMOILA 2 2ol L HAOGHS H A
o 30,800, 0002 *13] 30,800
HUES AR (2HOHS (SX)ES K2l A 128,800 0 128,800
A (R=EX)
= 90,200
Al 38,600
401 AlEHIZL=EHY 128,800 0 128,800
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2N =8B
HH: olY L a2 (sHMSA/HS0 - HE)
ol e A B CER-E
K- BSOS (3) - HEAY - BAS (X o) ) DS
401 A&HIZ=R08 = 90,200
Al 38,600
01 Al&HI 128,800 128,800
= 90,200
Al 38,600
= Off & 128,800 128,800
= 90,200
Al 38,600
OEXN st&E4, =7 2FZ, ME) Y
Z, E2A4 Fl 2,200,000& »43| 128,800
= 90,200
Al 38,600
HHMEfOHLHR & K& A 48,000 48,000
& 24,000
Al 24,000
101 elAd4| 48,000 48,000
& 24,000
Al 24,000
04 JIZtHZ2ZEXNSES 48,000 48,000
= 24,000
Al 24,000
= Off & 48,000 48,000
& 24,000
Al 24,000
OHHMEjotLfel NEXIS
2,000,000& x2H x12& 48,000
= 24,000
Al 24,000
ERY300AIY =0 flietdt =S 2H 24 4,580,000 4,580,000
2) %4
2 3,206,000
Al 1,374,000
401 AIZBIZ =208l 4,580,000 4,580,000
= 3,206,000
Al 1,374,000
01 Al&HI 4,580,000 4,580,000
= 3,206,000
Al 1,374,000
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2N =8B
B Y Y SMBR (SRS WL - O F)
el ez GO
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 0l & 4,580,000 4,580,000
= 3,206,000
Al 1,374,000
ONERY 300AM (=& T2 =4
Ared) 4,580,000,000& » 14 4,580,000
= 3,206,000
Al 1,374,000
dLHE ZTHW KA 11,130 11,130
2 5,565
Al 5,565
402 QI =0lM 11,130 11,130
= 5,565
Al 5,565
02 QAT 2AISEX(0IXTHSA) 11,130 11,130
= 5,565
Al 5,565
= 0l &t 11,130 11,130
= 5,565
Al 5,565
Odgdd ZTET XAY  11,130,000& 13 11,130
= 5,565
Al 5,565
S HETH oA 27,000 27,000
= 13,500
& 2,700
Al 10,800
402 QU2tXp=20lM 27,000 27,000
= 13,500
= 2,700
Al 10,800
02 QIAT2AILEZ(0IETHSA) 27,000 27,000
= 13,500
= 2,700
Al 10,800
= Ol &F 27,000 27,000
= 13,500
= 2,700
Al 10,800
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2N =8B
B Y Y SMBR (SRS WL - O F)
Erol: ohere e CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
Ogd™ HtY M H& 27,000,000& *13] 27,000
= 13,500
= 2,700
Al 10,800
MENHSSINTH K& 12,000 12,000
= 6,000
= 1,200
Al 4,800
402 QIZ2EX=20| M 12,000 12,000
= 6,000
= 1,200
Al 4,800
02 QAT 2AISEX(0IETHIA) 12,000 12,000
= 6,000
= 1,200
Al 4,800
= 0l & 12,000 12,000
= 6,000
& 1,200
Al 4,800
OMSRS3HIH KA 12,000, 000& *13| 12,000
= 6,000
= 1,200
Al 4,800
SIS EZEIIAHXA 24,000 24,000
= 12,000
& 2,400
Al 9,600
402 QIZEX =20l A 24,000 24,000
= 12,000
= 2,400
Al 9,600
02 QAT 2AILEX(0IXTHA) 24,000 24,000
= 12,000
2,400
Al 9,600
= 0l & 24,000 24,000
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2N =28 A
HzH: g L AL (SSIoH LA/l Lo OHE
SR ofEtd (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 12,000
== 2,400
Al 9,600
OBt sSEZEIAHXNA 24,000,000& *13] 24,000
= 12,000
== 2,400
Al 9,600
=2 HHSHE=XNSSAIAE XS 21,000 21,000
2 10,500
Al 10,500
402 QItXE0lA 21,000 21,000
= 10,500
Al 10,500
02 QIAX2AMAEX(0IEW) 21,000 21,000
= 10,500
Al 10,500
= 0l & 21,000 21,000
= 10,500
Al 10,500
O HHSH=XSSAIAE X &
21,000,000 x13] 21,000
= 10,500
Al 10,500
gltsd83 el &I X3 16,800 16,800
= 8,400
Al 8,400
402 QIZ2EXIE0l ™ 16,800 16,800
= 8,400
Al 8,400
02 QUAT2AILEZ(0IETHE) 16,800 16,800
= 8,400
Al 8,400
= 0l & 16,800 16,800
= 8,400
Al 8,400
Og=ANsdHS M HX K&
16,800,000& *x 13| 16,800
= 8,400
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SMN: =MOEED
M G L AR (SEMYSM/ WYL - O E)
cHel: o 2kEr 22 (9 A2
x 5 . Ofl & 04 A 0l & o -
SN H . GA(3H) - BN - BES =% o) EEET HiRE2
| | | | Al 8,400
HH2AHY (=B X ) (IIEH/IIE) 372,140 356,491 15,649
oIz 29y 280,404 259,984 20,420
oz 29 280,404 259,984 20,420
101 o124 280,404 259,984 20,420
01 E= 244,794 205,121 19,673
=04l & 244,794 225,121 19,673
OAZ2te 224y
10,2999 x 19 *30 Al 2+ * 122 70,446
Osd22esy 82,7862 x 182 « 117 174,348
02 JIEIRES 35,610 34,863 747
=0l AF 35,610 34,863 747
OAZ2tQ 224Y 8,822 6% «30AI 2t 128 19,034
Osg22esy 70,836 «2 % 117 16,576
JI=2 3| 91,736 96,507 A4 TT
Jl=2 A 91,736 96,507 A4 TT
201 LEr2 9y 37,316 41,007 A3,691
01 AtRZeltl 37,316 41,007 A3,691
=0l AF 37,316 41,007 A3,691
OHFLSY ATE ¢ 245,600 «103] 2,456
O=®MOSK Y=L 60,0002 *3652 21,900
OJI=2Ye +38S s =204
8,000 *15% x9 122 12,960
202 OdHI 48,000 50,400 A2,400
01 =LH0iHl 48,000 50,400 A2,400
=0) A 48,000 50,400 A2,400
OJl2 ge48 T S0
20,0002 *20% * 10 * 122 48,000
203 YR=ZXY 6,420 5,100 1,320
04 BN2ALREAY| 6,420 5,100 1,320
=0f A 6,420 5,100 1,320
OBN2Y A2AH| 535,000 * 128 6,420
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